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1.00 1.144 - - - - | 0.457 0.365 [0.365 [0.294] 0 O

1.27 | 0.889 - - - - | 0.451 0.361 [0.284 [0.294] 0

(1.50) | 0.674 - - - - | 0.404 0.323 [0.216 [0.294 ] 0

®=X] 1.75 0.674 - - - - | o0.472 0.377 [0.216 [0.294 ] 0

2.00 | 0.478 - - - - | o0.382 0.306 [0.153 [0.294 ] 0

2.59 | 0.368 - - - - | o0.381 0.305 [0.118 [0.294 | 1

9F | 0.40 3.20 | 0.283 - - - - | 0.360 [0.800 | 0.288 |0.090 |0.294 | 1

1.27 | 0.889 - - [1.000 |0.401 | 0.479 0.383 [0.284 [0.294 ] 0

(1.50) | 0.674 - - |1.000 |0.616 | 0.473 0.378 [0.216 [0.294 ] 0

Dt 1.75 0.674 - - |1.000 |0.616 | 0.532 0.425 [0.216 [0.294 ] 0

2.00 | 0.478 - - |1.000 |0.756 | 0.487 0.390 [0.153 [0.294 ] 0

2.59 | 0.368 - - |1.000 |0.836 | 0.507 0.405 [0.118 [0.294 | 1

3.20 | 0.283 |[1.750 |0.393 |1.000 |0.616 | 0.515 0.412 [0.090 [0.294 | 1

1.00 | 0.729 - - - - | o0.375 0.375 [0.375 [0.245] 0

1.27 | 0.616 - - - - | 0.402 0.402 10.317 [0.245| 0

@)t (1.50) | 0.373 - - - - | 0.289 0.289 10.192 [0.245| 0

2.00 | 0.373 - - - - | o0.385 0.385 [0.192 [0.245] 0

3.00 | 0.326 - - - - | 0.503 0.503 [0.168 [0.245] 0

8F | 0.51 3.50 | 0.249 - - - - | 0.447 [1.000 | 0.447 ]0.128 [0.245| 0
1.27 0.616 - - |1.000 |0.183 | 0.413 0.413 [0.317 [0.245] 0 @)

(1.50) | 0.373 - - [1.000 |0.426 | 0.362 0.362 [0.192 [0.245] 0

M= 2.00 0.373 - - |1.000 |0.426 | 0.443 0.443 ]0.192 |0.245] 0

3.00 | 0.326 - - |1.000 |0.468 | 0.557 0.557 10.168 [0.245| 0

3.50 | 0.249 - - [1.000 |0.530 | 0.524 0.524 [0.128 [0.245] 0
1.27 | 0.665 - - - - | 0.497 0.497 [0.392 [0.245] 0 @)

(1.50) | 0.432 - - - - ] 0.382 0.382 [0.255 [0.245] 0

@®= | 2.00 0.432 - - - - | 0.509 0.509 ]0.255 |0.245] 0

3.20 | 0.417 - - - - | o0.788 0.788 [0.246 [0.245] 0

7F 10.590 3.50 | 0.314 - - - - | 0.647 |1.000 | 0.647 |0.185 [0.245| ©

(1.50) | 0.432 - - |1.270 10.232 | 0.420 0.420 [0.255 [0.245] 0

(Dt 2.00 | 0.432 - - ]1.270 10.232 | 0.538 0.538 0.255 [0.245| 0

3.20 | 0.417 - - |1.270 10.246 | 0.809 0.809 [0.246 [0.245] 0

3.50 | 0.314 [3.200]0.103 [1.270 |0.246 | 0.701 0.701 [0.185 [0.245] 0
1.27 | 0.639 - - - - | 0.530 0.530 [0.417 [0.245] 0 @)

6F 10.652 | @)= [ (1.50) | 0.411 - - - - ] 0.402 [1.000 | 0.402 ]0.268 [0.245| 0

2.50 | 0.411 - - - - | o0.670 0.670 [0.268 [0.245] 0

DWE =




R4 MRZEHERO—E

(kE=14-1)

X__Jii ] Widir IE | WREmEEERE L = B 2 Go U= 0.59 |
2 W BB 32 W HFEEEZ= 1.00 | HEBEFRIEG= 1.00 | W&V~ 1.00 FEAFFRIET= 1.00
G ’ s
i (G gy | e[ e | m | s | L (ows| oo |EE]
)5t |229 | 0311 - - - - | o.527 0.527 10.203 [0.245 | 0
3.50 | 0.238 - - - - | 0542 0.542 10.155 [0.245 | 0
6F |o0.65 (1.50) | 0.411 - - [1.270 [0.228 | 0.444 1.000 0.444 10.268 [0.245 0
(7t |2:50 | 0.411 - - [1.270 [0.228 | 0.696 0.696 | 0.268 [0.245 | 0
2.59 | 0.311 - |- |1.270]0.328 | 0.593 0.593 10.203 [0.245 | 0
3.50 | 0.238 |2.500 [0.173 | 1.270 [0.228 | 0.640 0.640 | 0.155 [0.245 | 0
1.27 0.554 - - - - 0.499 0.499 10.393 [0.245| O O
(1.50) | 0.351 - - - - | o0.374 0.374 10.249 [0.245 | 0
2.00 | 0.351 - - - - | 0.498 0.498 10.249 [0.245 | 0
®)=] 2.50 [ 0.330 - - - - 10.584 0.584 10.234 [0.245] 0
2.59 0.247 - - - - 0.454 0.454 10.175 [0.245 | 0O
3.00 | 0.185 - - - - | 0.394 0.394 0.131 [0.245 | 0
5F [ 0.71 3.50 | 0.118 - | - | - | - [o0.292 |1.000] 0.292 |0.084 [0.245] 0
(1.50) | 0.351 - | - |1.270]0.203 | 0.416 0.416 0.249 {0.245 | 0
2.00 0.351 - - [1.270 [0.203 | 0.531 0.531 10.249 [0.245 0
(7t |2:50_| 0330 - - [1.270 |0.226 | 0.618 0.618 10.234 [0.245 | 0
2.59 | 0.247 - |- ]1.270]0.307 | 0.532 0.532 10.175 {0.245 | 0
3.00 0.185 - - 11.270 10.369 | 0.515 0.515 10.131 10.245 | 0O
3.50 0.118 [2.500 [0.211 [1.270 |0.226 | 0.517 0.517 10.084 [0.245 | O
1.27 | 1.188 - - - - | 1166 1.166_[0.918 [0.245[ 0 | O
()5t |(1:50) | 0.087 - | -1 -1 - lo1o1 0.101 | 0.067 {0.245 | 0
2.59 0.087 - - - - 0.175 0.175 10.067 10.245 | 0
4F 10.773 3.50 0.052 - - - - 0.140 11.000 [ 0.140 |0.040 |0.245| O
(1.50) | 0.087 - |- 1270 1.100 | 1.085 1.085 [0.067 |0.245 [ 0
(M| 259 | 0.087 - |- 1270 [1.100 | 1.094 1.094 10.067 [0.245 [ 0
3.50 | 0.052 - | - 1270 ]1.136 [ 1.123 1.123 [0.040 |0.245[ 0
1.27 0.650 - - - - 0.695 0.556 10.438 [0.245 | O O
(1.50) | 0.218 - - - - |o0.274 0.220 [0.146 [0.245 | 0
@)t |259 | 0218 - - - - | 0474 0.379 0.146 {0.245 | 0
3.00 | 0.195 - - - - | 0.492 0.394 |0.131 {0.245 | 0
ar |o.841 3.20 0.174 - - - - 0.467 0.800 0.374 10.117 [0.245 | O
3.50 | 0.094 - - - - | 0.277 0.221 0.063 [0.245 | 0
(1.50) | 0.218 - | - ]1.270]0.433 | 0.538 0.431 0.146 {0.245 | 0
(st |2:59 | 0.218 - | - [1.2700.433 | 0.662 0.530 |0.146 {0.245 | 0
3.00 0.195 - - [1.270 [0.455 | 0.692 0.554 10.131 [0.245 | O
3.20 | 0.174 - - [1.270 ]0.478 | 0.691 0.553 ]0.117 [0.245| 0
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3F [0.84 | (M| 3.50 | 0.094 - - [1.270 10.556 | 0.656 ]0.800 | 0.525 [0.063 [0.245| ©
1.27 | 0.784 - - - - | 0.908 0.817 [0.643 [0.245] 0 O
(8t (1.50) | 0.142 - - - - |o0.195 0.176 [0.117 [0.245] 0
3.00 | 0.142 - - - - | 0.391 0.351 [0.117 [0.245] ©
2F 10.91 3.50 | 0.118 - - - - ] 0.377 10.900 | 0.339 0.097 [0.245| 0
(1.50) | 0.142 - - ]1.270 10.641 | 0.768 0.691 [0.117 [0.245] 0
(M= 3.00 0.142 - - 11.270 10.641 | 0.839 0.755 |0.117 |0.245] 0
3.50 | 0.118 - - [1.270 |0.665 | 0.858 0.772 [0.097 [0.245] 0
1.00 | 0.555 - - - - | 0.555 0.450 [0.450 [0.245] 0
1.27 | 0.771 - - - - | o0.979 0.793 [0.625 [0.245] 0
.| 1.50 | o.101 - - - - | o.152 0.123 [0.082 [0.245] 0
®)=X
2.00 | 0.100 - - - - | 0.201 0.162 0.081 [0.245| 0
3.20 | 0.095 - - - - | 0.304 0.246 [0.077 [0.245] 0
IF | 1.00 3.50 | 0.068 - - - - 10.239 0.810 | 0.194 ]0.055 [0.245| 0
1.27 | 0.771 - - 11.000 |0.002 | 0.979 0.793 10.625 [0.245| 0 @)
1.50 | 0.101 |1.270 [0.670 |1.000 |0.002 | 0.864 0.700 [0.082 [0.245] 0
(x| 2.00 [ 0.100 [1.270]0.671 [1.000 |0.002 | 0.875 0.709 [0.081 [0.245] 0
3.20 | 0.095 [1.270]0.676 |1.000 |0.002 | 0.911 0.738 [0.077 [0.245] 0
3.50 | 0.068 |1.270 |0.703 |1.000 [0.002 | 0.924 0.748 0.055 [0.245| 0
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